
HOLIDAY HOMEWORK 

CLASS – 7 

SESSION 2025-26 

 

MATHEMATICS: 

 

Here is a homework assignment of 50 questions  

 Chapter: Rational Numbers and Operations on Rational Numbers. The questions are a mix of basic, 

intermediate, and application-based ones, covering addition, subtraction, multiplication, division, 

comparison, and properties. 

Homework (Rational Numbers and Operations on Rational Numbers) 

A. Fill in the blanks (1–10): 

 

1. Every rational number can be expressed in the form ___. 

2. The reciprocal of a non-zero rational number is ___. 

3. Zero has __ reciprocal. 

4. The additive identity for rational numbers is ___. 

5. The product of a rational number and its reciprocal is ___. 

6. Rational number 0 is (positive/negative/neither) ___. 

7. The rational number between 1/2 and 3/4 is ___. 

8. Rational numbers are closed under __ and __. 

9. Rational numbers are not closed under ___. 

10. Rational number -2/3 is ___ (less/greater) than -1/3. 

B. True or False (11–15): 

11. 0 is the smallest rational number. 

12. The sum of two rational numbers is always rational. 

13. Division by zero is defined. 

14. Rational numbers include integers and fractions. 

15. Reciprocal of -1 is -1. 

C. Simplify (16–30): 

16. (2/3) + (5/6) 

17. (-3/4) + (2/5) 

18. (7/9) – (4/9) 

19. (-5/6) – (1/3) 

20. (3/4) × (2/7) 

21. (-2/3) × (3/5) 

22. (4/9) ÷ (2/3) 

23. (-7/8) ÷ (1/4) 

24. (5/6) × 0 

25. (3/5) ÷ 1 

26. (4/7) + (-6/7) 

27. (2/3) – (-4/9) 

28. (-5/8) × (-2/3) 

29. (6/11) ÷ (-2/11) 

30. 0 ÷ (-3/5) 

 

D. Solve word problems (31–35): 

31. A rope is 4 1/2 meters long. If it is cut into 3 equal pieces, what is the length of each piece? 

32. Ramesh walks 3/4 km in the morning and 5/6 km in the evening. How much distance does he walk in total? 

33. A tank is filled with 2/3 liters of water. If it leaks 1/4 liters, how much water is left? 



34. Multiply the reciprocal of 5/8 with -4/5. 

35. A person earns Rs. 3/5 of his salary and spends Rs. 2/5 of it. How much does he save? 

 

E. Compare the rational numbers (36–40): 

36. Compare: -3/4 and -2/5 

37. Which is greater: 1/2 or 3/7? 

38. Arrange in ascending order: -2/3, 0, 1/2 

39. Arrange in descending order: 5/6, -1/3, 0 

40. Which is smaller: -4/7 or -3/7? 

F. Match the columns (41–45): 

41. 1/2 × 1/2 → (a) 1/4 

42. (-2/3) + (2/3) → (b) 0 

43. Reciprocal of 3/7 → (c) 7/3 

44. 0 ÷ 2/3 → (d) 0 

45. -3/4 × -4/3 → (e) 1 

G. Higher-order thinking (46–50): 

46. If a rational number is added to its negative, the result is ___. 

47. The sum of three rational numbers is 0. If two of them are 1/2 and -2/3, find the third. 

48. Find x: (x/3) + (1/2) = (5/6) 

49. Which number should be multiplied by -2/5 to get 4/15? 

50. If (a/b) ÷ (c/d) = (ad)/(bc), explain why this rule works using an example. 

 

 

 

ICT: 

 

 

 

 



SANSKRIT: 

 

 

 

ENGLISH: 

 
 

 



 

 

SOCIAL SCIENCE: 

1.Map skill page no. 6 

2. write few lines about different Spheres. 

3. Draw and learn preamble. 

4 .Define  

a. Preamble  

b. Constitution.  

c. Universal adult franchise.  

d. Coalition government. 

e. Reservation. 

 


